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Answers:
1. 4 2.2 3.2 4.2 54

6. Amplitude because it measures the volume. Period measures how
quickly they breath, and midline measures the average air volume.

7. Period is 2/3 seconds, which represents the amount of time it takes
the wheel to complete one revolution.

8. 1 9. b) Translated /3 to the right.
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10. The resting blood pressure of an adult patient can be modeled by the function P
below, where P(t) is the pressure in millimeters of mercury after time tin seconds.
P(t) = 24cos(3mt) + 120
-

On the set of axes below, graph y = P(t) over the domain 0 <t < 2.
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Determine the period of P. Explain what this value represents in the given contfext.

Period = 2/3 seconds = time between beats.

Normal resting blood pressure for an adult is 120 over 80. This means that the blood
pressure oscillates between a maximum of 120 and a minimum of 80. Adults with high
blood pressure ([above 140 over 90) and adults with low blood pressure (below 90 over
60) may be at risk for hearh aisoraers. Classify the given patient’s blood pressure as
low, normal, or high and explain your reasoning.

This person's BP is 144 over 96 which
Is considered High BP because it is
higher than 140 over 90.
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A car’s fire has a diametfer of 32 inches. It runs over a nail, but it is able to confinue
moving. Write a cesine function that describes the height of the nail above the ground
as a function of the wheel’s angular distance.

A. Sketch the curve

Height of nail
(in inches)

90 180 270 360 450
Distance traveled (in degrees)
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B. Idenfify the vertical shift (N\';J“M) fix] = A cos (@ [x-h)) +k
Koup Wb = 1
= tmsdmin o s¥e_ ) K= 16
C. Identify the amglitude
Avmp= 1l = |A|
vekleded cos arve vo... A= -lb

D. Find the horizontal shift (ek;s( Shi 'Q'\')
none

E. Find the cycle [distance of each rotation) and pencd
Since the function will consist of angular distonce, we'll use 340 degreeas for each

cycle. \ d‘_:: 3‘,0’ = wf. = 'G *S ;h
e W = ¥o aeo®

W= o

w= |

F. Wnte the equation to model this situation.
L) = ~\b tos (X)+ 1

G. If the carwhesl frame covers the top half of the wheel, when will the nail be visicle?
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